DB c1 L1 2 2
1BEGH A 7 A AB 6| [AB
2ABCEGH B 10 B AC 3| [aE
3ABCEFH »c 5 » C » AD 2| B\ [AG
ABCDEFGHL D 4 D AE 5| 7 [AH
SABEHK E 9 E AF 2| [BE
6BEFGHIK F 6 F AG 4l [BF
7ABDGH G 8 G AH 5| [BG
8ABDG H 8 H BC 3| [BH
9BDFG | 1 BD 3| cE
10CEF J 0 BE 7| [cF
11ACEFH K 2 BF 4l [cH
12ABEG L 1 BG s| [pG
M 0 BH 7l [eF
N 0 cD T ES
CE 5| [eH
CF 4l |FH
G 2| [eH
CH 4
DE 1
DF 2
DG 4
DH 2
EF 5
EG 5
EH 7
FG 3
FH 4
GH 5
C3-1 C3-2 3 Ca-1 |ca-2 L4
ABE ABE 4| [ABE ABEG |AEG-nF->p BEGH
ABG ABG 4| [ABG ABEH |ABEH 3
ABH ABH 4| \ [ABH ABGH |AGH nf ->p
AEG AEG 2 »'AEH » BEGH |BEGH 4 »
AEH AEH 4l [BEG CEFH |CFH nf ->p
AGH AGH 2| [BEH
BEF BEF 3| [BGH
BEG BEG 5| [ceF
BEH BEH 6| [cen
BFG b EFH
BFH BFH 3| [EcH
BGH BGH 5
CEF CEF 4
CEH CEH 4
CFH CFH 3
EFG b
EFH EFH 4

FGH

FGH




Sup(BEGH)

Rumpf Kopf |[Fr. Conf.
BEGH () 4 1.000
BEG H 5 0.800
BE GH 7 0.571
BG EH 8 0.500
EG BH 5 0.800
E BGH 9 0.444
BEH 8 0.500
BEH G 6 0.667
BH EG 7 0.571
EH BG 7 0.571
BGH E 5 0.800
GH BE 5 0.800
H BEG 8 0.500
EGH B 4 1.000

Regel

BEG=>H

EG=>BH

BEH=>G

BGH=>E

GH=>BE

EGH=>B



